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1.7
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2.1 21
2.1 ( )
(D)
KV
V) o)
0.38 5.0 4 2.00
6 10 4.0 3 1.75
35 63 3.0 2 1.00
110 1.5 1 0.50
110KV 1.5%
2.1 110KV
2%
2.2
2.2
23 2.1 75%
2.2
2.4 2.1 75%
2.2
22 *
( A)
(kV) 2 | 3| 4|5 |6 | 7|8 |9 |10|11|12]13|14]15]1
0.38 53 | 38 | 27 | 61 | 13 | 43 | 9.5 8.4 |7.6| 21 |6.3| 18 | 5.4 |5.1| 7.
6 10 14 | 10 | 7.2 | 12 | 4.8|8.2 3.6 |3.2|4.3[7.9|2.4]6.7|2.1]2.9]2.
35 63 5.4 |3.6|27|43|21(3.1]1.6|1.2|1.1]2.9|1.1]|2.5]|1.5]|0.7]0.
110 4.913.9(3.0/4.0[20|2.8|1.2]1.1|1.0|2.7|1.0|3.0]|1.4|1.3]1.
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S— (MVA)
n—— ( n =2 3 45 )
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_ 10S,DFU
NEUN

B.2 ( )

I n
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=12+ 1 + 21 gy n COSO,

In n ( A)
I||n n ( A)
gn n
g n
2 2
In:\/lln+llln+llnllln
B.3 2.2 C1l C.2
B.1
B.1
(kV) (MVA)
0.38 10
6 10 100
35 63 260
63 500
110 750

220kV
2.2
B.1
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B.1 (MVA)
2.2 n (A)
Sa n (A)
C
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( Cl1 C2 2.3 2.4
19 )
( )
c1
(kVA)
(kv) 3 6 12

— 230 310

0.38 — 63 _

— 90 150

490 1200 3000

6 10 — 480 _
— 600 1500

660 1700 3900

35 63 — 740 _
— 850 1900
1900 4400 11000

110 — 2300 —
— 3700 5700
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(kv)
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KVA KVA
(kvA) (kVA) )
0.22 0.38 100 85 25(220V)
6 10 900 600 45(380V)

19

23

2.2




